Problem 1
2w 20sin2360t in360t .

v= /—= SIW360L _ SISO — 1000sin360t V
C 20x10 10

i=C -% =20 X 107° x (360 x 1000c0s360t) = 7.2c0s360t A

Problem 2
(@)i=C-2=4x1073 x (~1004e 1% — 5008500
i(0) =4%x1073 x (—1004 —500B) =2 = A+5B=-5

whent=0, 15=A4-1+B-1 = A+B =15
{A+SB=—5 :{A=20
A+B =15 B =-5

b)yw =2CV2 = 0.5x 4 x 1073 x 225 ] =0.45 ]
2
(©i=C-2=4%1073 x (=100 x 20e 10 4 500 x 5¢~50%¢)
— _86—100t + 10e—SOOtA

Problem 3

v(t) = v(te) + 7 ft’; i dt.
2

1 2
v(2) = v(0) +—] 6(1—e2Hdt=0+ Zf 6 — 6e7 %t dt
0.5 J, .

= 2(6t +3e72)|2 =18 + 6e~* = 18.1099 V
P=VI=181099 x 6 x (1 —e Y )W = 106.6692WW

3/29/2017

Problem 4 100 500
W~ Wy |
=60 X ——V =36V + -
v 30+ 10 + 10 v, =300 IJ; 100=V, ;’
_ I _ 1 + 2
Ve = 60X s Tor 10”1 - -
60V
V1 =V3 = 36V

vy =60 — v, =48V



Problem 5

V=1L-% =12 x 1073 x 800c05200¢ = 9.6c05200t V
W =1Li% = 05x 12 x 1073 x (4sin (200 X 2-))? = 0.006 x 0 = 0]

Problem 6

. . 1 ot
i(t) = L(t0)+zft0vdt
1 ,t t
=1+Ef06t2+2t+3dt=1+5(2t3+t2+3t)|0
=10t3 +5t2+ 15t + 1A

Problem 7
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| .
0 160uF ll
A ESmH
|
W,=0.5Li W=0.5Cv?
W=We = 05L2=05Cv2 = = |2

R=5=\E— 8107 _ /500 =7.071Q

i 4/ 160x10-6
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Problem 8

| ,
10mA C) 0K V o 30KQ

i=10x -2 mA =4mA =4x103A.
20430

v=1IiR =4x1073 x 30 x 1000 = 120V




